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QUESTION 1

You are troubleshooting an L3VPN that is part of an EVPN/MPLS DCI. You notice that the EVPN overlay BGP session
toward 10.29.50.4 is unable to establish. 

Why is the BGP session failing to establish? 

A. The route-distinguisher value on the local PE is incorrect 

B. There is no route for 192.168.5.5 an VPN net 0. 

C. There is no route for 192.168.5.5. in inet 3. 

D. The vrf-table abel value is not configured in the remote PE. 

Correct Answer: C 

 

QUESTION 2

You are deploying a VXLAN using signaling overlay network in your new data center. You are able to establish your MP
BGP peering session and see your EVPN routes, but traffic will not traverse the VXLAN using signaling overlay
network. 

What is a solution to this problem? 

A. Enable the mtu-discovery feature on the MP peering sessions between VXLAN ANs EVPN signaling peers. 

B. Increase the protocol MTU on all devices participating in VXLAN using EVPN signaling 

C. Increase the MTU on the logical VTEP source interface of all devices participating in VXLAN using EVPN signaling. 

D. Increase the physical MTU on all ports on all devices participating in VXLAN using EVPN signaling. 

Correct Answer: D 
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QUESTION 3

In the exhibit, VM1 is part of the same VXLAN segment as VM3. 

Which type of message will VTEP B initially send to the RP so that VM3 can communicate with VM1? 

A. PIM join 

B. IGMP Join (*, G) 

C. IGMP Join (S,G) 

D. PIM register message 

Correct Answer: D 

 

QUESTION 4

Referring to the exhibit, not all routes are being exchanged by EBGP peers. 
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In this scenario, which BGP parameter would solve this problem? 

A. mulcihop 

B. mulcipach 

C. mulcipach mulciple-as 

D. as-override 

Correct Answer: D 

 

QUESTION 5

When using EBGP as the underlay protocol for your IP fabric architecture, which two statements are true? (Choose
two.) 

A. Spine nodes peer to both leaf and spine nodes 

B. Leaf nodes only peer to spine nodes 

C. Leaf nodes peer to both spine and leaf nodes 

D. Spine nodes only peer to leaf nodes 

Correct Answer: BD 
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